BIC

5x10°

log[ Relative Probability ]

—-150

Window Half—Width (km/s)

2x108

108

2x10°

5

10

=50

—100

10*

1000

2/(410944 5133)=0.894

BIC 420333.41 ABIC —0.594 AIogP 0.1289
X’ 362983.16 Ax? —0.594 AlogP 0.1289 ]

JBIC
| ABIC —406681 607.9 :( 130.1 +( 1 X
I Ax? —406681 —555.4 : —1951 |
4882 ' 4882 4972 5133
A ' ACy | AC.F AC:BSF
L L n L | " L L L | L n L L | L L L L | L L L L | L L L L | L L L L
50 100 150 200 250 300 350
350 iterations
rm265 2/(410944 5133) -0.894
r-—r+ "1 "~ 1 v v 1 T T T T
L : : BIC 429333.41 ABIC —0.594 AlogP 0. 1289 ;
L , , 2 _ ]
i f | ]
L A B b
[ | | ]
]
i : | | ]
[ 4882 ' 4882 (4972 T 5133 ]
AR e T I e et el et Sl Sl et
50 100 150 200 250 300 350
350 iterations
Fe2 23% 657+133 km/s
rm265 BLR 8440 NLR 900 km/s
-+ 11T~ 7T+ T 1 . . 1 r r
- {BIR
NLR
Fell

350 iterations

kdh1 13-0ct-2021 13:52



